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Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

. mwiaﬁmﬁ#ﬁ%w#mmﬁw%g@rwwﬁﬁ/

The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.

o TUCYRTH % diT 7 @l G/ 9 T 83
Don'’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not,
strike the written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o Fum A & gY@ 7 9 FRTT BT & 5 ger-uw qof 7 @ & wdar % I9UT 5
T F HE f T @B T 1A T

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
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General Instructions :
(i) All questions are compulsory.

(li} This question paper contains 35 questions, which are divided into four
Sections : A, B, C and D.

(iii) Section - A contains question number 1 to 18 of objectwe type questions.

Each question carries 1 mark.
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(iv) Section - B contains question numbers 19 to 25 of ve

questions and carrying 2 marks each. .
26 to 30 of short answer type

(v)  Section - C contains question numbers
question number 31 and 32

questions and carrying 3 marks each and
carrying 4 marks each.

(vi) Section - D contains question numbers 33 to 35 of long answer type
questions and carrying § marks each.

(vii) Internal choice is available in all long answer type questions. You have to

attempt only one of the given choice in such questions.

gug -
SECTION - A

(g 51e)

(Objective Type Questions)

Yo e el ® 7 ~ | o 1

(A) TEDHEREN | (B) RIS

(€) IeRArmEREs (D) g

Albugo belongs to : |

(A) Ascomycetes (B) Phycomycetes

(C) Basidiomycetes (D) Deuteromycetes
Pt & & rifRe Sdwa (FRF) Rt qed e o ? B Sy
a) SR (B) e

(C) Wferer ' (D) STwIfdreT

Segmentation in the body is first observed in which of the following ?
(A) Platyhelminthes (B) Aschelminthes

(C) Annelida (D) Arthropoda ‘
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FrefoRag & @ Read ordlad! SS9l dar ¥ 2
©) Fee D) e

In which of the following ovary is inferior ?

(A) Mustard (B) Brinjal

(C) China-rose (D) Guava

Rrftg Seiear e ar@r Ty 1
(A) T ' - (B) T

(C) =X SEREE (D) &

Parietal placentation is present in :

(B) Sunflower

(A) Tomato

(C) Pea (D) Mustard

Rrefiied § & B-a1 ofe fedt A Rreeh & R 77 e ? 1
(A) TEEEH (B) HH

(C) wrEdega (D) TR Jga

Which of the following organelles does not surrounded by any membrane ?

(A) Ribosome (B) Nucleus

(C) Mitochondria (D) Endoplasmic reticulum
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6. Rifs® ore =% § Preifias § § Biv-a =7 (Rv) Rergime G @) ORa 7
g ® ? ~ 1

(A)  RNSRS ov § Rifyw v
(B) iy orct & o-reR® ova
(C) Tii® o ¥ ®ARS o

(D) ﬁmm%aﬁﬁﬁhﬁ@ﬁ‘eﬁm

In citric acid cycle, which of the following step is not catalysed by
dehydrogenasc enzyme ? |

(A) Oxaloacetic acid to citric acid
(B) Citric acid to a-ketoglutaric acid
(C) Succinic acid to fumaric acid

(D) Malic acid to oxaloacetic acid

7. TR H hEs T Iuae R S s ? |
A) A9 B A H AT AR FA B Rw '
(B) THRI % THH & T 9t F $ R
(C) el &y H T T B g
(D) (B) & (C) AN
Ethylene is used for :

(A) Slowing down ripening of Apples

'(B) Slowing down ripening of Tomato
(C) Hastening of ripening in Fruits
(D) Both (B) & (C)
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8. PEP R CO, a1 mrafie I 8 & ?
(A) Co Qi A
(B) Cz Wt #
(C) Caq Gt #
D) (B) &R (C) A #
PEP is primary CO, acceptor in :
(A) C2 plants
(B) Cs plants
(C). Cs plants

(D) Both (B) & (C)

9. frefefed & & Pm-ar i, qF & FRepren o & 7
(A) RN UEies o7 (TTI) | o
B) (2,4 2),2, 4 sEFREFR JHich T
©) W Wifew ot (amiu)
(D) T & g T

Which of the following auxin has been isolated from plants ?

(A) Naphthalene acetic acid (NAA)

(B) 2, 4-dichlorophenoxy acetic acid (2, 4-D)

,‘(C) Indole acetic acid (IAA)
- (D) None of these
2630 -
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(7)

e & d-a e @ 7

(A) e (B) QAT

(C) AR-TRAwH (D) TR

Which of the following is a glucocorticoid ?

(A) Cortisol (B) Epinephrine

(C) Nor-epinephrine (D) Aldosterone
TS oS 5 8N A Bl & ¢

A) SRR o | (B) IRF &= & HA
(C) e o o (D) *TEH HrET
Gout is caused due to the accumulation of :

(A) Oxalic acid (B) Uric acid crystals
(C) Lactic acid ‘ $ (D) Calcium carbonate

Wi 3 e frgd QU o € 7

(A) o dfE A (B) SR G awg
(©) (A) & (B) Al (D) M § A T
Node of Ranvier is found in :
(A) Non-myelinated nerve fibres (B) Myelinated nerve fibre
(C)‘ Both (A) and (B) (D) None of these
Ao ferdem awp B &
®) TR (B) TR

(D) et

P. T.
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Oxygen dissociation curve is :

(A) Parabolic (B) Hyperbolic

(C) Sigmoid (D) Straight

14. U SAFARE o] oRihan R SifeRiv ottt b e Y aha ¥ 7 S
(A) 2 | - (B) 4
(@) | 6 2 e (D) 8
One molecule of haemoglo‘bin can carry a maximum of how many molecules of
oxygen ? .
@ 2 w0 (B) 4
€ 6 ‘ (D) 8

Friied s 59 (3o den 15, 16, ’17@118)1??311?4%(*&)%%%@%
IR 8% &P A RO (R) B FF RA T &1 A Fo W @R = g@ Ru 1w 58
% FerIdl § @& ST B IIT i

In each of the following questions (Q. No. 15, 16, 17 & 18), a statement of
Assertion (A) is given followed by a corresponding statement of Reason (R)

just below it. Of the statement, choose the correct answer using the codes
given below. '

(A) W(A)@W(R)aﬁaﬁ%@wm)amm (&) N & =TE B

 (B) W(A)@W(R)ﬁﬂﬁ%@wm)W(A)aagamqa
ok |

- (© \'ﬂﬁﬁ!ﬁ(A) a‘é’l%@tmw (R) 7T B
__,'_'(D) eaﬁmm (A) qa IR ®) At T %|

3-'1 2630
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(A) Both Assertion (A) and Reason (R) arc true and Reason (R) is COfrect

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true but Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true but Reason (R) is false.

(D) Both Assertion (A) and Reason (R) are false..

15.W(A):ﬁsﬁﬁwﬁA—ﬁgaﬁﬂ—%ﬁa‘#MWE’rW%’l 1

R (R) : A-S5 & TARE R -5 F e A4 dgemeia JE € X 9Ll Heger
3 X 3 TR (TEe) ¥ FA & S o

Assertion (A) : In muscle contraction, length ‘of both A-bands and I-band -
decreased. |

Reason (R) : Both myosin of A-band ‘and actin of I-band are contractile
proteins and decrease in size during muscle contraction.

16. W(A):qﬁwmmqm%@ﬁmﬁaﬁdﬂa@mmﬁm%l g

FRO (R): ADH §Hqed daferd kil (PCT) Td T8 Afoemall & qRo=al & Serd 3,
Rrag gt &1 T7: STE9iYYT 951 & OfR T SWRH H9 Sl 8

Assertion (A) : Vasopressin released by posterior pituitary.is also called Anti-
diuretic Hormone (ADH). -

Reason (R) : ADH increases the permeability of (PCT) Proximal Convoluted

Tubule and collecting tubules to increase reabsorption of water
and decrease the urine output. -

17, W(A):cawzmgamﬁcquﬁﬁwmwmmm%{ e
' W.(R):Cq-ﬁﬁfﬁmﬂmﬁﬁ@m%l

Assertion (A) : Cq phomsynmeﬁc pathway is more efficient than the Ca pathway.

T 335‘36“, (R) : In.c,}'plants photorespiration does not occur.

P.T.O.
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W(A):mmm@mmamm%u | 1
w«a);a@aww%mmam%mmﬁmm%wm
deamer g T A

Assertion (A) : Mitochondria and chloroplast are semi-autonomous organelles.

Reason (R): They are formed by division of pre-existing organelles and

contain DNA but lack protein synthesizing machinery.

ge —-¢§
SECTION - B

(o SR 55T )

( Very Shoft Answer Type Questions )

T vt B wder (i) P e 2

What are the universal rules of nomenclature ?

St & aliBT F F AR & 7 _ 2

What is the basis of classification of Algae ?

ST %) fedras od gt e @ ST A SR E 7 2

What do you mean by secondary and tertiary structure of protein ? .

mmﬁmmlwwﬁHWWM%? ; " >

Define Respiratory Quotient. What is the Respiratory Quotient of fat ?

2630 -




(11)

p3. = & w9 By

Write down the functions of Lymph.

28, PEn @ s owd 7

What are the functions of Gibberellins ?

OR

T saE F gEr geA 1§ 7

What are the crucial events in acrobic respiration ?

28, yman & g el w k7

What are the main functions of the root system ?

1

% on
E

F‘i

mmmnmmmwn

- What is Venation ? What are various types of it ?
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(12)
Qug -9
SECTION - C
( s mew )

( Short Answer Type Questions )

ﬁﬁwm%wmwmmamhml

Explain with suitable examples different type of phyllotaxy.

W B 3 S0 o 3 e o o Fifvm

Describe the steps of catalytic cycle of an enzym_é: action.
S i (T fegem) & a1t Ry

Write down the functions of Eﬁdoplasmic réﬁcu‘lum.

TAEHIRGE & T4 SR o9 & 7

What are the various steps of glycolysis ?

YT

OR
A BRA-ERR 77 v S

Describe cyclic photophosphorylation.

2630
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30. TN T (Arefves) 3 orgrer e a1 ATiRRT Ry TR 3

Draw a well labelled diagram of T. S. Dicot root (Primary).

Eqr

OR

THAIST T 3 ST e B AR R SR

Draw a well labelled diagram of T. S. of Monocot stem.

31.

w @

Sqda R # g9t T oA (TE) B TEE @ Frafviee g @ o SR
Identify the animals A and B shown above in the figure and answer the
- following questions :

2630 Y By i | - P.T.O.
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(14)
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(8) T e # R q@ B T dx U o ¥ 7
‘ . 1
Which type of circulatory system is present in.these animals ?

(b) T & B @R & IR w@ sl o g o ¥ 7

Which are osmoregulatory and excretory organs present in these animals ;

(© AW B M (Fwew) S Ifes am a7 ¥ 7

1

What are the scientific name of animals A and B ?

Yqr

OR

%ﬂwmmwwﬁ-mw(m)@ﬁmaﬁr%?

Which one of the animals is monoecious & which one is dioecious ?

CYTOPLASM

NUCLEUS

(A) (B)

(C) (D) (E)

SnH R & R mo & eieme st T ¥ g wei ol R e 3
gat 4 ¢

Different types of Leucocytes are shown above in figure. Identify these and
answer the following questions :

Which one is the most abundant cell of total leucocytes ?
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; Which is least in number ?
(O TIREE B  E A w DRw & 1 R i

Name two types of phagocytic cells in leucocytes.

rqr
OR

T WER H TEHIRE Tat SR o s gk § afhte 3 ¥ 7

Which type of leucocyte is involved in allergic and inflammatory reactions ?

grg -
SECTION - D

(& e a9 )

5 ( Long Answer Type Questions )
:

| 33, R T e 7 R G AR N 5

- Differentiate between Chordates and Non-chordates.

YT
OR

P.T.O.
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34. aﬁmﬁw%m@ﬁw«aﬂaﬂhml

Describe Meiosis-II of cell division.

OR

USTEH & Xl &l [Rag|
Write down the classification of Enzymes.
35. T ST B HET B A AR

Describe the transmission of nerve impulse.

~

OR
ofEeT (agsmett i) @ Rt R @ avi i

Describe various disorders of circulatory system.
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